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1 Heat engine between two baths

A heat engine operates between a bath at a high temperature Ty, and another bath at a

low temperature Tioy. The efficiency of the engine is
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Apply the second law to this situation to determine an expression for the efficiency solely in

terms of the temperatures.
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2 Carnot cycle

Consider the Carnot cycle as described in class.

a) Using the fact that for an isothermal process PV is constant and that for an adiabatic
process PV is constant, relate the pressures and volumes at the junctions of the cycle.
Successively eliminate the pressures to show that
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c¢) Determine an expression for the efficiency of the Carnot cycle.
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